EARAROBEEIERT — 2 N— IBISH —F

201858/ 1H (K) 9mEHMH4H

B C2— (hREFEE) 5% 3%LE ‘ (X ‘ (3ekpsh]  — | & () 14000 B
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = 4 | FERDEH 1:32.4 3-4-3-3 |39.8| — 7 457 | BHREE (Fk)
1l7lg| *EV=—F1F1 it a510 5 4 RSSO
AR YL~ BXEV—INTAT TADAS
3 | TR#E 1:32.6 1-1-1-1 | 40.3| — 4 450 | HEZAEEA (FEf)
2 ) g0) /€)Y i 54.0 (11/2) (+8) FEARNT
Z:Z2hErdNE—r BIUIRLUE— LIRS
. ¢ 4 3 | BHEF 1:32.8 2-2-1-2 | 40.5| — 2 466 | HAEIEE (FEf)
3lglig| T>F—/¥7— 55.0 m ST=r
RN—VFITya BEILYLEZTUT HR&SE AXMEXT7-T0
R . s EREE : 77— — HERE (EH)
A AESE I o4 B 1.(333).3 8-7-7-6 | 40.4 1 (4:3:) ;;/Emi
R:T7oTANIVE B:A—K)—O0—-X AR S
R A . _g-8— _ E@mfE (FEH)
5 3| 7F—LNA b o7 i 1.(313).5 7-8-8-9 | 40.5 6 (4_5;0) M%E
Loxq4o B:sgrU—J H—L—+ JvIN2 - Ty—LBERS
. 5 HEFE= -33. -10-10- 3| = tE¥Z (EE)
6l1l1|>FV7 /744 e 54.0 1(73?:? 10-10-10-8 1 40.3 8 ?_Og TAREE—
R:TA—FAFAF =Y B8y IANR N — AR
3 RIS i 7 | R 1:33.7 5-5-6-4 | 41.0| — 5 474 | =EEZ (EH)
7|55 XT¥avvy¥~ 54.0 (1/2) Ga) | R Tr—2pEYa>
YL KYIYRIR BINF—RTAT HEERYS
N . FHEH— : -3-5- — aAkRYS (EM)
8 NESTY =Ry H o7 e (11.314/.20) 3-3-5-4 |41.3 9 fso) mmmg
LK== B:xor7rUyd NEFRE RF
I 25 4 6 | EHEME 1:34.5 9-9-9-10 |41.4| — 3 450 | /VEREE (FERG)
9717 EXIXRTA7 56.0 (3) (-2) @%ﬁﬂ;@
L:TANVRTyYa B:TLI)—XE-7 EEY -]
= BEH#T :34. —6-4— X - KR (FkR)
wlglg| Tz 21074 i G | T ee B ot
R:TFy T a4 K BITUFNRRXA— b B R
® 1—F—@EBIERL
13—F+— 2,10, (6,8),(5,9),3,4,7,1
20—F— 2,10,6,8,5,9,4,3,7,1
Jol=5r= (2,10),8,9,6,5,4,3,7,1
40—F— 2,10,8, (5,6) ,4,9,1,3,7
[ N5
B 8 2,100 714K 2-8 1,720 e E 2-7 2,430 JEE 2-8-10 6,700/
B B 8 410M 8-10 1,140H B = 2-8 7,430H JEE 8-2-10 75,590
2 1909 2-10 540M B H 8-2 14,060
10 140/

ABICOVWTRDTEEERROODE. TR LIV,



